MmP CHEMFLO® 6 CC

QUMPS 3" x 2" End Suction Centrifugal Pump

by Gardner Denver

Made with high quality investment cast 316 stainless steel components,
the ChemFlo® series of pumps are designed to be applied in a wide range of
pumping applications where stainless steel is required.

The ChemFlo® 6 pumps utilize an enclosed impeller designed for achieving
higher heads and efficiencies than a standard semi-open impeller. Multiple
impeller trims allow the ChemFlo® 6 to meet most duty points up to 450 GPM
and total head up to 157 feet. Several mechanical seal options are available
in addition to the standard type 2100 carbon / ceramic / Viton mechanical
seal.

Application

ChemFlo® 6 pumps are offered in two configurations, pump (with motor) o Al

and PumPAK® (without motor) versions. Motors available are 145TC, « Commercial
184TC, and 215TC. If ordering a PumPAK please note that the electric motor ~ * Industrial
must have a base.

* Marine
« OEM

Drive Sleeve

SPECIF'CATIONS « 316 stainless steel

Suction And Discharge 3" x 2" 150# ANSI flange

Materials Of Construction 316 stainless steel

Flow Up to 450 GPM

Head Feet Up to 157"

Impeller 6.18" enclosed, cast 316 SS

Motor Up to 15 HP

Drive Options Close coupled 184TC, Close coupled

215TC, Close coupled 145TC, Pedestal,
PumPAK® (without motor)

Seal Special seal material combinations
available (consult factory), Standard
carbon / ceramic / Viton

Options Tap for recirculation or seal flush,
Hydraulic motor driven pedestals and shaft
driven pedestals



CHEMFLO® 6 CC

CUBIC METERS PER HOUR
0 20 40 60 80 100
MODEL_CHEMFLO 6
i 55% 60 1 65 1 1701 SIZE 3X2
2300 RPM ekl 173% IMPELLER 6.18 DIA,
150 i m BaN
G NI Y NS 75y 140
125 / A 1N NV 4
= 117 TV / LAY
I l[ [ /i N f N JANEY: Sy
- it 4
"é" _3_8_?” ok ANEENE // AN TN 65%
< 1007 AR TN
w N ~ o s S ™
I / ~ - = // // ] \\
= ARYEEANED GEA==— AR Nz DAERTHERN
[—75 i / B4R N M N “
O N UANERS By R
F 7/ N T PR 120
j" 7‘! N 4 ~| 4+ //{ \ko
50 / 1 // 7.5
1750 RPWHHATH A .
g T I R  LPE 5
s CLTTHINPSHA [ 13 <o
0 50 100 150 200 250 300 350 400 450
GALLONS PER MINUTE C/N5157

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

CHEMFLO® 6 CC

TOTAL HEAD - METERS



CHEMFLO® 6 CC

CUBIC METERS PER HOUR
0 30

10 50
MODEL CHEMFLO 6
SIZE 3X2
T mamma i g N SPEED_1750 RPM
| [~ A [~
I ~ ~ — 1
593 P17 SRR sl o
! ! I ™~ ——-\— — - - HP T~ 66%__ 14
30 6 \ A\ I~ - “ 63 1
E | — \ - B N e L~ )K‘\. E
[ N BN [~ —1 | — N~
n 5.25 N[ [T B S 5
' 50 AR ] SR TN | 2
a) -. T S R 50% TN | 2
W 2.6 DA SN = T
-—-—._.__________ -""""--....____ ""'--.._“ ~. ‘“"""-.._ "‘"><\L _I
&l ~ T — —— B s ""“--._\ ]S
E 10 ~ e e ~ o
= .5 HP e Mh:t“-n..‘ ‘-\‘ H"“‘-. - .\"-.. P ]-
= ~ 3 [ ~_
‘h‘"“-.h\‘:‘\‘ I =
0 10
25 50 75 100 125 150 175 200 225 250
GALLONS PER MINUTE C/N 5202

(e

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

CHEMFLO® 6 CC



CHEMFLO® 6 CC

CUBIC METERS PER HOUR
0 20 2 60 80
MODEL CHEMFLO 6
SIZE 3X2
0, 4
6,18 DIA. 25165770 735 SPEED __ 2850 RPM
|Oc i i g 1-_“-:\ ] I T 30

~ 5,93 "~ N B ~~ 73%
= [ 1 — b =y 0
W [T560% H - T TS0 70 @
Ll-75 = = I Tﬁh%\h‘ﬁ_ 5 T T - B \‘65 IJ]—J
fa) 5.2 | \ ~E L T [ PR PEREN 20 =
< N 0 "~ ﬂ"""‘---..___ L s ﬁ"%k L~ = 1] 1
W [ = - NUERENERAN AN 55% Q
I ~ \ 171 | T = NS EdPum <
2 07560 x ST T TS TS TR U
< O = o N ~ NG TN N
o SER== NITRETISORNIN] (o 2
= TN AR SN ER=SEANY CHE SnEE |016

25 AR Mzh = <~ \“\ 0 =
E N
"~ Y 5
0 \ 3
~2HP
0 50 100 150 200 250 300 350 400

GALLONS PER MINUTE

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

C/N5194

CHEMFLO® 6 CC



CHEMFLO® 6 CC

CUBIC METERS PER HOUR
0 20 40 60 80 100
MODEL CHEMFLO®6
a 55% 160165 SIZE 3X2
Sl rddmy 01 173% SPEED_3500 RPM
150 NERETEI S
| | [/ | N~
| 15.93 N A v "‘\-}\-
EEE L i R > L {739 740
AN N NN/ 270
12517560 i FTRIS &
T == AL 5 Ne = Kl 70
L [ IR =Y ] aN| L
o =EE] X N << D4R NE P
2100_525 AN / - L/ e N 0
L - T B \ 7 ;}‘: B S h\'/ /(\\V\
T (4500 I S e A N e s I R N
T s e AL
o7% HEE RSy aRSD RTINS
= :_‘f‘_-ﬁ,_[_)lh- f —H \,2:\ AnmnVdEL 60% >ﬂ\~.\ 2 20
9 ST L0
10 /1 DR / AEAN
50 R e
NPSHR N[ 75
nllsll \\ -
25 1T 14'TF5HP
0 50 100 150 200 250 300 350 400 450

GALLONS PER MINUTE

34800 BENNETT - FRASER, MI 48026-1686
(586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

C/Nb5156

CHEMFLO® 6 CC

TOTAL HEAD - METERS



CHEMFLO® 6 CC

4.0
2" CLASS 150
OUTLET FLANGE

FW Tip

S/

(4) @ .75 HOLES THRU
EQ. SPACED AS SHOWN
[4) 1/2-13 X 3/4 CAPSCREW
EQ. SPACED AS SHOWN | ONA $4750B.C.
OMN A ¢7.250B.C.

3" CLASS 150
IMLET FLANGE

/450 TYP

[4) @ .75 HOLES THRU
EQ. SPACED AS SHOWN

PIPE PLUG
ON A ©6.000B.C.

CFé PUMPAK FOR 184TC

P 34800 BENNETT - FRASER, MI 48026-1686
LA (586) 293-8240 - FAX (586) 293-8469 CHEMFLO® 6 CC
by Gardner Denver (800) 563-8006 - www.mppumps.com



CHEMFLO® 6 CC

©6.00
450 TYP

2" CLASS 150 ' ' '
OUTLET FLANGE—{—_ -

(4] © .75 HOLES THRU
EQ. SPACED AS SHOWN

(4] 3/8-16 X 3/4 CAPSCREW ONA @4.750B.C.

EQ. SPACED AS SHOWN
ON A ©5875B.C.

(4) @ .75 HOLES THRU

EQ. SPACED AS SHOWN 3" CLASS 150 (2)1/8" NPT

CFé PUMPAK FOR 145TC

34800 BENNETT - FRASER, MI 48026-1686
P (586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

PUMPS

CHEMFLO® 6 CC
by Gardner Denver



CHEMFLO® 6 CC

40

2" CLASS 150
CUTLET FLANGE

7

(4) @ .75 HOLES THRU

EQ. SPACED AS SHOWN
3 W
(4) 1/2-13 X 3/4 CAPSCRE NA D475 B

EQ. SPACED AS SHOWN f 6.99
ON A $7.250B.C.
rﬁ.w* 917
i
[ H
.62J
3" CLASS 150
INLET FLANGE—
749
57 TYP
1.3765 (4) @ .75 HOLES THRU (2)1/8" NPT

®13755

EQ. SPACED AS SHOWN PIPE PLUG

ON A ©6.000B.C.

CFé PUMPAK FOR 215TC

34800 BENNETT - FRASER, MI 48026-1686
P (586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

PUMPS

CHEMFLO® 6 CC
by Gardner Denver



CHEMFLO® 6 CC

ITEM NO. PAII% ]N?LIS.NslBER DESCRIPTION MATERIAL QTY.

1 PIPE PLUG 1/8" NPT 31455 2
2 31449 VOLUTE CF8M S5 1
a 29194 HEX JAM NUT 5/8-18 31655 1
rl 31467 IMPELLER @6.18 CF8M $5 1
4 31750 IMPELLER @5.93 CFam 55 1
4 31751 IMPELLER @35.60 CF8M S5 1
4 31748 IMPELLER @5,25 CF8M §§ 1
4 31752 IMPELLER @5.00 CFaM S5 1
4 31753 IMPELLER @4,60 CFaM S5 1
5 31311 DRIVE SLEEVE 31455 1
& 31347 SEAL ASSEMBLY 1.5" STC/31458 1
& 31374 SEAL ASSEMBLY 1.5" CCSVITON 1
& 28170 SEAL ASSEMBLY 1.5" EFDM 1
b 26441 SEAL ASSEMBLY 1.5" 55C 1
& 26565 SEAL ASSEMBLY 1,5 CHEMLON 1
7 30044 O-RING AS-548-143 SILICOME 1
7 31233 O-RING AS-568-143 VITOM 1
T 33757 O-RING AS-568-163 EFDM 1
8 31093 HOUSING SEAL CF&M S5 1
? 31235 CAPSCREW 1/2-13X3/4 30455 4
10 31091 MOTOR ADAPTOR CAST IRON 1
11 21261 STUD 3/8-16X1.63 304 5§ 4
12 28053 FLAT WASHER 304 35 4
13 21268 HEXMUT 3/8-14 304 55 4

CFé PUMPAK FOR 215TC 14 31312 CLAMP STEEL 1

34800 BENNETT - FRASER, MI 48026-1686
P (586) 293-8240 - FAX (586) 293-8469
(800) 563-8006 - www.mppumps.com

PUMPS

CHEMFLO® 6 CC
by Gardner Denver



CHEMFLO® 6 CC

1 2 3 5 P 7 Ko n 13 @
R
"
‘ - é
ITEM NO. PART NUMBER DESCRIPTION MATERIAL QTY.
1 21255 PIPE PLUG 1/8" NPT 31655 2
2 31449 YOLUTE CFBM 5§ 1
3 29194 HEX JAM NUT 5/8-18 31655 1
4 31467 IMPELLER @6,18 CFBM 55 1
4 31750 IMPELLER @5.93 CFBM 55 1
4 31751 IMPELLER @5.40 CFaM 55 1
4 31748 IMPELLER 235.25 CF8M 55 1
4 31752 IMPELLER 5,00 CF8M 55 1
4 31753 IMPELLER @4.40 CF8M 55 1
5 31094 DRIVE SLEEVE 31655 1
& 31347 SEAL ASSEMBLY 1.5" STC/314 55 1
3 31374 SEAL ASSEMEBLY 1.5 CCEVITON 1
& 28170 SEAL ASSEMBLY 1.5" EPDM 1
& 26461 SEAL ASSEMBLY 1.5" 35C 1
& 26565 SEAL ASSEMBLY 1.57 CHEMLON 1
7 30066 O-RING AS-558-143 SILICONE 1
7 31233 O-RING AS-568-163 VITON 1
7 33757 O-RING AS-558-1463 EPDM 1
a8 31093 HOUSIMNG SEAL CF8M 55 1
9 31235 CAPSCREW 1/2-13X3/4 304 55 4
10 31071 MOTOR ADAPTOR CAST IRON 1
1 21261 STUD 3/8-14X1.63 304 58 4
12 28053 FLAT WASHER 304 55 4
13 21268 HEXMNUT 3/8-16 304 5§ 4
CFé PUMPAK FOR 184TC 14 31099 CLAMP STEEL 1

34800 BENNETT - FRASER, MI 48026-1686
P (s56) 2038240 - FAX (586) 293-8469

CHEMFLO® 6 CC
(800) 563-8006 - www.mppumps.com

PUMPS

by Gardner Denver



CHEMFLO® 6 CC

ITEM NO. PART NUMBER DESCRIPTION MATERIAL QTY.
1 21255 PIFE PLUG 1/8° NPT 316 8§ 2
2 31469 VOLUTE CF8M 35
3 29194 HEX JAM NUT 5/8-18 316 8§ 1
4 31467 IMPELLER @é.18 CF8M 55 1
4 31750 IMPELLER (3593 CFBM 55 1
4 31751 IMPELLER &15.60 CF8M 55 |
4 31748 IMPELLER {3525 CFBM 55 1
4 31752 IMPELLER @500 CF8M S5 |
4 31753 IMPELLER 34,40 CFBM 55 1
5 31804 DRIVE SLEEVE 31655 1
] 31347 SEAL ASSEMBLY 1.5 STC/314 55 1
& 31374 SEAL ASSEMBLY 1.5" CC5 VITON 1
) 28170 SEAL ASSEMBLY 1.5 EPDM |
& 26461 SEAL ASSEMBLY 1.5 55C 1
& 25545 SEAL ASSEMBLY 1.5" CHEMLON 1
7 30064 O-RING AS-568-163 SILICONE 1
7 31233 O-RING AS-568-143 VITON 1
7 33757 O-RING AS-568-163 EPDM 1
5 31093 HOUSING SEAL CF8M 55 1
? 25663 CAPSCREW 3/8-16 X 3/4 30453 4
10 31711 MOTOR ADAPTER CASTIRON 1
11 33181 STUD 3/8-16X2.00 304 55 4
12 28053 FLAT WASHER 304 55 4
13 21268 HEXMUT 3/8-164 304 55 4

CFé PUMPAK FOR 145TC 14 23039 CLAMP ASSEMBLY 303 8§ 1

34800 BENNETT - FRASER, MI 48026-1686
MP (586) 293-8240 - FAX (586) 293-8469

CHEMFLO® 6 CC
by Gardner Denver (800) 563-8006 - www.mppumps.com


http://www.tcpdf.org

